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(ii) oscillatory

(1v) monotonic decreasing.
ﬁ}um}: i

(i) divergent
- ,’_‘E (iv) None of these.
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(d) Which of the following function does not satisfy Rolle’s theorem in [~2, 2] interval?
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(iv) None of these.

I 23 we

(i) 1

o (iv) None of these.
deﬁnedbyf(x) (x - 1)3 x € R, then

» WW & _g, 1“ )

P "

AL

3k, {—4k and 4; +3J+ak are coplanar, then the value of ‘o’ will be

(i) 1
L (iv) None of these.
}ms1on ez + xyz is

@) (x+)y +2)(x"+) +2)
(iv) None of these.

tlon ormed by elumnatmg the arbitrary constants a (+0) and b (#0)
ke a)y + b is

=
E



(7) (Z(2nd Sm.)-Mathematics-G/(GE/CC-2)/CBCS |

Group - B
[Differential Calculus - II]
Unit - 1

(Marks : 15)

3+2

4
x+x—2+l—?—+%+..., for x > 0. 2+3

3

e =

Please Turn Over



5-G/(GEICC-2)/CBCS | (8)

SO Group - D
[Vector Algebra)
e Unit - 3
(Marks : 5)

Answer any one question.
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Answer any three questions.
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: by xeepr niethod that if the diagonals of a quadrilateral bisect each other, then the quadrilateral

| ﬁnd the remainder when 10°'° is divided by 7.
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